10th Grade TAKS
Benchmark Exam

1.  Which of the following is an equation for the line that passes through the point (-1, 4) and has a slope of 2?
A.  y = 2x + 6  ***

B.  y = 2x – 3

C.  y = 4x + 8

D.  y = -x + 4
2.  Which real number property is illustrated by the equation 3 x 1 = 3?
A.  The identity property of multiplication  ***
B.  The distributive property

C.  The identity property of addition

D.  The commutative property of addition

3.  What is the slope of the line shown?

A.  m = 4
B.  m = 0  ***

C.  m = 1

D.  Not Here

4.  Write an equation for the line passing through the point (-1, 4) and having a slope of 2?

A.  y = 2x + 6  ***

B.  y = 2x – 3

C.  y = 2x – 7

D.  Not Here
5.  Which of the following is an equation for the line that passes through the point (2, 4) and has a slope of 3?
A.  y = 3x - 2  ***

B.  y = 3x + 2

C.  y = 2x + 3

d.  y = x + 3

6.  Which equation shows the slope-intercept form of the linear equation 3x – 6y = 9?

A.  y = 3x + 9

B.  3x = 6y + 9

C.  y = ½ x – 3/2  ***

D.  x = 2y + 3

7.  What is the slope of the line?
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A.  m = 3

B.  m = -3/4  ***

C.  m = 3/4

D.  m = -4/3

8.  What is the value of x in the equation 3x + 5 = -2x – 10?
A.  x = 5

B.  x = -5 

C.  x = 1

D.  x = -3  ***

9.  Below is the graph of the function f(x) = x – 6.
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If the graph of f(x) is translated 6 units up, what is the equation of the resulting graph?

A.  f(x) = x  ***

B.  f(x) = 6x – 6

C.  f(x) = x – 12

D.  f(x) = 6x

10.  Which of the following is a linear?

A.  2y = 3/(x2 – 2)
B.  y = 6x2 + x

C.  y = 2(x + x) ***

D.  x2 – 8x = 5y

11,  A student is solving the equation,  5x – 11 = x + 15.  Which of the following strategies would be most helpful to the student?

A.  Subtract x from both sides.  ****

B.  Divide both sides by 4.

C.  Add 5x to both sides.

D.  Subtract 11 from both sides.

12.  Which of the following functions is a quadratic function?

A.  y = (2x + 4) - 3

B.  y = x(x + 1)  ***

C.  y = 2x + 3

D.  y = 4x4
13.  Which equation describes the data shown in the table?

	x
	y

	-3
	-8

	-1
	-4

	0
	-2

	2
	2

	4
	6


A.  y = x - 12

B.  -3x + 3y = -4

C.  y + 12 = x

D.  2x – y = 2  ***

14.  Through which of the following points does the line y = -4x + 3 pass?

A.  (2, 11)

B.  (-5, 2)

C.  (1, -1) ***

D.  (0, 0)

15.  What is the range of the function y = x2 + 3x over the domain {-1, 0, 1}?

A.  {4, 0, 4}

B.  {4, 0, 2}

C.  {-2, 3, 4}

D.  {-2, 0, 4} ***

16.  What are the points that contain the intercepts of the line with equation 4x + 8y = 16?
A.  (0, 4) and (8, 0)

B.  (0, 2) and (0, 4)

C.  (0, 2) and (4, 0)  ***

D.  (0, 4) and (2, 0)

17.  A retirement community has a pool that offers free admission to senior citizens at least 60 years of age and to children 5 years of age and younger.  Which shows the ages of those who receive free admission?

A.  5 ≤ a ≤ 60

B.  a < 5 or a > 60

C.  60 ≥ a ≤ 5

D.  a ≤ 5 or a ≥ 60  ***

18.  If f(x) = x2 – 2x – 4, what is f(-3)?

A.  -1

B.  11   ***

C.  19

D.  Not Here 












